PLB386C#/Re-BOX(R 0 12 S5 EM) H

VESA BRACKET

®
©
®
224
5

=
=
|
ol
ol
|
=
=

T
[ 1T
% 7,
2\l N 2222222228305 089000000002299295
8| IF Screw Max.
338
MONITOR CHASSIS
385 M3x3 370 M3x3
SCREW Max10mm = 360 > SCREW Max10mm
M4 X2 i i M4 X2
SCREW Max10mm SCREW Max10mm
- S @ 7:
: 00000000000 POODOOOOOOO00O ]
00080000000 BOOOOOOOOOO
0000000000000 O0QO0 F——————x E
& 0000000000000 QO0 "‘ 000 [
W (] 000066666668600Q00 I [ 00
00
VESA 000000000000 o0 _ 00
M4 X4 000000000000 |00 2£=400mm oo
g i SOREW Moo 000000000000 gg
Z ] T
L
o
O
N
— o) ~t| 0] =\ 0l ﬂrj of i
N _ - Ve | p—
& TR SER )y < & K
+ o
N
o)
o
[N DY =t
00
00
== )l ) [ — gy J 1 18 8 — 1 U_HJ_U)J L
y | |\
305.7 (BEZEL OPENING) a S
] O o
J : l
I o o °
_ j oot

RS-232C
or
USB

AC-INLET DVI-D D-SUB

peae
/ @iiﬂ@ijeﬁjﬁaﬁﬁﬁgq:ﬁﬁ

nra O 1 IIl




PLB386CH#/Re-BOX (R0 ff17A4EEH) VESA BRACKET JL : SR — ; Bg
T T

Al
SsS§ N\
N

“ o

N

Screw Max.

MONITOR CHASSIS

408 398

©5.5%X5 o ¢ ©5.5X%5

o [©) _
o [ :)O 00000000000 BOOO000000000000000 O(: ]
[SE=E-E-Esjelsfsjsloja] Jolcfole e -R-R-K-R-K-Jojsjsjejoj=}l=]
o ¢} RS 00000000000000Q00 &
o ® 000B0000000000d00 "‘ ® o
o ¢} Fe > . 000066©6666000Q00 I o) > ej
VESA 000000000000 _
M4 X4 000000000000 2&=400mm
9 i SCREW MoxT0mmy <75 990000000000
Z b
- H C D)
&
o le) O
| O O
I m% @ g 8 C ) — \j\\ g ] 3 g
L p o~
EE/ (e}
™ M~ L
D o C D a
s k=
00
00
) = = T T i) T m T'®
o 305.7(BEZHL OPENING) o QLé} @ J ® <}JQ
o o o l® @ —
1] o
D c N6} o 0 o o o C

RS-232C
or
USB

AC-INLET DVI-D D-SUB

peae

nra O 1 Il =




VESA BRACKET T 1 .0.0.-0.1 1 RIEE
5 5 Pty
- L RAE = |
PLEIBOR BB O L) |\ s §§§§§§§§§§§§§§§§§§§§§§§§§§§§§§/
| [P Screw Max.
279.6
%ilfsffmﬁﬁxmﬂw MONITOR CHASSIS 339.6
BEHRE IR0 JECED.
THOEY 2 - WRBEC TSRO LT, 328.6
49.5 310
% 240 . ¥ L=400mm
B M3X13 v ® b ® 1+
— — — — — — @ \OOOOOOOOOOOOOOOOOOOOOOOOOOOOO Jﬁ /=
SCREW Max4mm CO00O0D0O0O0O000O0O0OO0O00O0O00000000000000 ®
’7 00000000000000G00
—1Jo 7 00000000000000J00 00 i 000
_Jo ™™ ococococoooo000000d00 ©) oodo| ' [] 000
0 00 000
‘ ] Q VESA 000000000000 000

= ) 000000000000 000

E Z Q M4 X4 000000000000 000
| o F =5 SCREW Max10mm 1 000

)

9 9 N o H
| 4 o0 9 o 2 0 — g 9 —
\ O Q S @ ~ =S

L m N Q o o
| 2 @ o 75

1 4 o 4

o A 0 00¢ 000

NG 0 Ie 00 igo 000
‘ N I a = 00 ° 000

. = = | @
30413 (VIEWING AREA) = H' = ) = “JQMJ?DJ ’H 3 =
~ + + ~
308.2 (BEZHL OPENING) HTES b P N ® TTe A
I TS I o o® g g 9
. N 2
Ul L«r% -+ <+ - [0
o]
33b.6 RS 10
5 i 102
- 2£40
,,}, Key Hole RS-232C
Uss
col
AC-INLET DVI-D D-SUB
7 ) {C TP o Jo o @ T
{ - N

[

OUO

I

|




OSD =2 v b o— LEMRINEK

Ny Fv g GND/sg—v

¢ 3

.

3

Iy vH

_IyvBRtE 15 (MAX)

i

§15°]

!
) 0003
(]

©0 06 06 006 @@@\@@% axiil
©
(]
(3]

IvvH IvvH
8.5 6?5
/B N
ol © i 7
o] Y N\
: o o o oo TS

5

2y S

5y

© 400

™
I\

>[

27

11

f INPUT }i

MENU

+

@@@@%@I

\‘~§
§§§§.~\

15

13.5

13.5

13.5

13.5 195

102

™N\LED

REERERKA S



